
 

 

             DELHI PUBLIC SCHOOL 
                                  SAIL TOWNSHIP, RANCHI 

                                            ANNUAL EXAMINATION (2020-2021) 

  Class:- VII                                                Subject:- English   

            Time – 3 Hrs.                                     F.M. :- 80 

GENERAL INSTRUCTIONS:- 

1. The question paper is divided into two parts: 

Part A 

Part B 

      2 . All questions are compulsory. 

      3. You may attempt any part at a time. 

      4. All questions of that particular part must be attempted in the correct order. 

PART-A 

 Section - A (Reading) 

Q.1 Read the following passage carefully: 

1. Read the following passage and answer the questions given below:- 

Somewhere in Siberia 40 million years ago the Sabre-toothed tiger flourished. It became 

extinct only about 10,000 years ago, and its descendants, the true tigers, began to extend their 

range, moving southward in search of more suitable habitats as successive phases of the Ice 

Age made Northern Asia uninhabitable.  

Today, deep in the snow of the Soviet Far East, 200 tigers still roam, and a few thousands of 

its relatives patrol the surviving pockets of forests form India to Indonesia. Wherever the 

tiger lived, it exercised a deep and lasting effect on the indigenous people, who traditionally 

revered it as god and protector of the forest and coexisted with it in an atmosphere of mutual 

harmony and respect.  

But Western civilisation has taken its toll on the tiger. Thousands were shot for sport, and 

much of their habitat has been destroyed to make way for the demands of industry and 

increasing population. Tigers have now reached a crisis. They face extinction if we do not 

recognise that recent conservation efforts have failed, and that the future of the tiger lies in 

the hands of the people whose land it shares. It’s a pity that the tiger is India’s national 

animal yet there are just about 1400 odd tigers left in our country.     
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Read the questions given below and write the option you consider the most  

appropriate :               [1X10=10] 

i . The true tigers, the descendants of the Sabre-toothed tiger, moved southward for  

a) a suitable habitat  b) increasing their number 

c)       extinction   d) a change 

ii. We find a few thousand tigers today 

a) in the Soviet Far East  b) from India to Indonesia. 

    c)         In Northern India  d) none of the above  

 iii. The indigenous people treat tigers 

a) as god and protector of the forest.     b) as a danger for the local people. 

   c)        as an enemy and kill them.      d) as a means of hunting. 

  iv Tigers have reached their extinction due to 

a) ecological imbalance.   

     b) the treatment of the indigenous people. 

     c) the Western civilisation which shot the tigers for sport. 

          d) carelessness of man.  

  

     v. Which word in the passage stands for following ‘after the other’?  

a) descendants   b) successive   c) moving      d) lasting 

 

          vi The verb form of ‘civilisation’ is synonymous with  

   a) refine    b) cultivate      c) enrich    d) all the above 

vii  Sabre tiger is now  

a) found in Siberia   b) extinct  c) endangered  d) conserved  

          viii. The sabre-tooth tiger flourished  

a) 400 million years ago                                         b) 4 million years ago  

        c) 40 million years ago                                            d ) 10 million years ago 

          ix. How many tigers are left in India according to the passage  

a) 10,000                         b) 40                c) 1400               d) 200 

 

        x. Which parts of speech is “ indigenous”? 

     (a)  Noun                  b) Adjective      c) Adverb                      d) Verb 
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2. Read the following passage carefully : 

Kite flying was a popular sport at that time and while the girls knitted and sewed, we boys 

climbed the roofs to enter the competition. We had limited pocket money and it was not 

enough to buy all the material needed to make our kites, but with “dor” (a strong thread) we 

could cut other kites’ strings. During the day someone was sure to fly a kite high, and as soon 

as it was spotted, other kites would go up to tangle in battle.  

Often three or four kites were locked together and with strong thread and the right pull, a 

heavy kite could cut the snarl and bring them all plunging to the street. All eyes would focus 

skyward and we would try to follow the direction of the crashing kites.    

The rules of fair play were that no one was to snatch a kite once someone had placed both 

hands on it, but the rules were often broken. During the rush to follow the kite, we jumped 

from one roof to the next and each boy looked out only for himself. My enthusiasm would 

never allow me to stand still, while others rushed to reach the prize.  

 

Read the questions given below and write the option you consider the most  

appropriate :             [1x10=10] 

i) The boys ................ while the girls knitted and sewed.  

a) learnt how to make kites. 

b) Enjoyed kite flying from their roofs.  

c) remained indoors as they did not have enough money to buy kites 

d) studied.  

 

  ii) Whenever there was a kite flying in the sky, other kites 

a) would also join to have a competition.  

b) Would go up to tangle in the battle.  

c) would remain still. 

d) both of the above.   

 

iii) The rules of fair play demanded that  

a) none would snatch a kite once someone had placed both hands on it.  

b) everyone will share the possessed kite.  

c) Nobody shall fly that kite until everyone had at least one kite.  

d) no kite would be snatched.  

  

  iv)  A heavy kite could cut the snarl 

a) with a strong thread and the right pull.  

b) due to a special technique used by an experienced kite player.  

c) due to its weight.  

d) due to its diameter.  
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v) Tick the correct meaning of the word enthusiasm 

a) zeal              b) excitement     c)  happiness       d) ecstasy  

 

   vi)  Which kite becomes the target? 

a) The kite that was tangled.  

b) The kite that flew very high.   

c) The kite that broke off.  

d) The kite that had strongest string.  

vii) Why was there a rush ? 

a) To cut the string of the kite in the sky.  

b) To fly the kite. 

c) to tear the kite.  

d) To follow the kite that was fallen.  

 viii) Antonym of  “Anonymous”    in the passage is  

 

a) Popular    (b) Limited     (c) Spotted      (d) Directions 

 

 ix) Kite flying was considered as a ----------- 

 

         (a) Game      (b)   Sport             (c) exercise     (d) None of these 

 

 x) Choose the adverb in the sentence 

                       “ The rules were often broken”      

a) Rules               b) broken         c) The             d) often 

 

3. Read these lines and answer the questions below:-                                                      [1x5= 5] 

“I’ll go, my chief, I’m ready  

  It is not for year silver bright 

  But for your winsome lady” 

i. Who said this to whom? 

a. Lord Ullin to chief of Ulva’s Isle.    b. The boatman to chief of Ulva’s Isle.  

c. The chief of Ulva’s Isle to the boatman.   d. The chief of Ulva’s Isle to Lord Ullin. 

ii. Whose ‘silver bright” is the speaker talking about? 

a.  Lord Ullin’s                               b. The chief 

             c.    Lord Ullin’s daughter’s            d. The boatman’s 
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iii. What did the speaker do after saying this? 

a. He went to the shore.                    b.   He waited for the storm to slap. 

 c.  He ferried the boat into the sea.    d.   He called Lord Ullin.  

iv. The author of this extract is  

  a. Thomas Edison      b. R.K. Narayan 

c.  William Shakespeare    d. Thomas Campbell  

v. The meaning of ‘winsome’ is 

a. Delay 

b. A narrow valley 

c. Handsome  man 

d. Innocently charming  

 

4. Read this line and answer the questions below-                                                  [5] 

“Don’t hit the kite, it will attack you” 

(i) Who said these words? 

a. Bodhraj   b. Narrator 

c.  Bodhraj’s mother d. Narrator’s mother  

(ii) To whom did the speaker say? 

a. To Bodhraj   b. To narrator 

c.   To Bodhraj’s mother d. To narrator’s mother 

(iii) What do these lines tell you about the speaker? 

a. The speaker is scared of his partner     b. The listener is scared of the kite, 

c. The speaker is scared of the kite      d. None of these 

(iv) Did the kite attack the speaker and his partner? 

a. Yes   b. No   c. Yes, for once  d. None of these  

(v) Name the author of these lines 

a. O’ Henry  b. R.K. Narayan c. Subhadra Sengupta d. Bhisham Sahni  

5. Choose the correct option:-                                                                                    [1x10=10] 

(i) The passive voice of the sentence 

    ‘Saumya is cooking dinner’   will be –  

a. Dinner is cooked by Soumya. 

b. Dinner is being cooked by Soumya. 

c. Dinner is been cooked by Soumya. 

d. Dinner has been cooked by Soumya. 
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(ii) The past perfect tense of the sentence  

“Jagriti washes her clothes”   will be -  

a. Jagriti has washed her clothes. 

b. Jagriti was washing her clothes. 

c. Jagriti had washed her clothes. 

d. Jagriti had been washing her clothes. 

  

(iii) My father _________ me a bicycle for my birthday  

a. Bought        b. Will be buying            c. Will be bought            d. Will buy  

 

(iv) Delhi ______ on the Yamuna. 

a. Stood               b.    Is standing                c.  Stands                         d.  Has stood 

 

(v) This dress suits her style. She _____ definitely like it. 

a. Can          b.   Could                  c.    Will            d.  May  

 

(vi) A bouquet of flowers _______ required for the event. 

a. Are           b.          Have                   c.      Has                         d.  Is 

 

(vii) Indirect speech of the sentence  

She said, “Bring a glass of water, please.”  Is........ 

a. She commands me to being a glass of water. 

b. She requested me to bring a glass of water. 

c. She asked me to bring a glass of water. 

d. She ordered me to bring a glass of water 

 

(viii) _______ in known about her achievements  

a. Few                b.   Little           c. Some                       d.  Any  

 

(ix) I like to sing _______________ 

a. Just as my sister sleeps.   b. While my sister likes to play. 

c. Though my sister leaves early.  d. Whom my sister dislikes.  

 

(x) Write the kind of adverb in the sentence  

        I have sometimes seen rainbows in the sky 

a. Adverb of frequency  

b. Adverb of manner 

c. Adverb of reason 

d. Relative adverb  
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6. Do as directed:-                                                                                                        [1x10=10] 

(i) FIB with correct word:- 

              ‘Few applicants _______ backed out.’ ( have/has) 

(ii) Change into indirect speech –  

The teacher said, “The wind is a renewable energy source.” 

(iii) F1B with determiner 

‘______ event is scheduled according to the plan.’  

(iv) Join these sentences with suitable conjunctions 

‘She cannot hear. She cannot speak.’  

 

(v) Separate this sentence into main clause and subordinate clauses. 

      ‘I wanted to get good marks in the test so I studied very well.’ 

(vi) Replace the adjective with adverb  

‘I believe she is an eloquent debater’.  

(vii) Identify the sentence. Write whether it is simple, compound or complex sentence 

       ‘Shekhar is not only good at mathematics but also is excellent at sports.’  

(viii) Rewrite this sentence using infinitives. Make all necessary changes. 

  ‘My father wants that I should become an engineer.’ 

(ix) Write this sentence into passive voice.  

                           ‘Give the toy to her’.  

(x) Write whether the verbs in this sentence is transitive or intransitive  

‘The bell rang  loudly before the door opened’.  

7. Write an interesting story with the help of outline given – (150 words)                                    [5] 

Once upon a time _________ Androcles _________ a slave of wealthy man  _________ master 

cruel  _________ beat the slave  _________ Androcles  ran away  _________ reached dense 

forests  _________ saw a lion  _________ with thorn in his paw  _________ roaring in pain  

_________ Androcles caught  _________ brought before the king  _________ punished  

_________ thrown in front of hungry lion  _________ lion roared  _________ rushed towards 

Androcles  _________ strange enough  _________ instead of eating  _________ licked his hand  

_________ king amazed  _________ learned the truth  _________ released Androcles.   

 

8. Write an application to your school librarian requesting her to allow you to borrow one  

        more book than your designated quota of two. You are Ravi/Ravina Prakash of  

       Class VII ‘A’, A.M.S. Public School, Dehradun.      (100 words)             [5]                                                                                                                                        

OR 

You are Himanshi/Himanshu, the student Editor of the school magazine ‘Sagarika’ of Bal 

Bharti Public School, Bhubaneshwar. Draft a notice, inviting students to write articles 

(poems/stories/ jokes etc) for the magazine ‘Sagarika’. (50 words) 
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9. Read these lines and answer the questions below.                                                                        [4] 

“You think you are wiser than the newspaper?” 

-------------- Courage is everything, strength and age are not important? 

(i) Who said these to whom? 

(ii) What was the article in the newspaper about? 

(iii) What is the difference between courage and strength? 

(iv) What was the reaction of the listener?  

 

10. Answers ANY  FIVE of these questions :-    

[2x5=10] 

(i) What is the message that the poet is trying to convey in the poem ‘Nine gold Medals’? 

(ii) Was Lord Ullin able to help his daughter? Why? Why not? 

(iii) What is the significance of the last stanza of the poem ‘Stopping by woods on a snowy 

evening? 

(iv) What do the king, the old man and fair maid symbolize in the Poem ‘The last Bargain’? 

(v) What was the announcement made by the crier in the chapter ‘The Mind Reader’? 

(vi) What role does the diamond necklace play in the story ‘The Diamond Necklace’?  

(vii) How did Bodhraj save the myna chicks? 

 

11. Do   you think Swami  really had the qualities of a hero? Write the event that made  

him a hero.                          [3] 

12. What do you think would be some of the questions and worries on an orphan’s mind  

when he comes to live in s shelter home?  (Nat)                                                                           [3] 

 

 

 

******************* 
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d{kk& Lkkrd{kk& Lkkrd{kk& Lkkrd{kk& Lkkr            

le;& le;& le;& le;& 3 ?kaVs?kaVs?kaVs?kaVs            

funsZfunsZfunsZfunsZ”k%& ”k%& ”k%& ”k%&  

1. lHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSA

2. Øekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaAØekuqlkj iz”uksa ds mŸkj fy[ksaA    

1. fuEufyf[kr fuEufyf[kr fuEufyf[kr fuEufyf[kr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &

ifjJe dks lQyrk dh dqath ekuk x;k gSA thou esa lQyrk iq:’kkFkZ ls gh izkIr gksrh gSA dgk Hkh 
x;k gS & mn~;ksxh flag iq:’k 
gkFk&ij&gkFk /kjs jg tkrs gSaA volj muds lkeus ls fudy tkrk gSA HkkX; dfBu ifjJe dk gh 
nwljk uke gSA izd`fr dks gh nsf[k,A lkjs tM+&psru vius dk;Z esa yxs jgrs gSaA phaVh dks Hkh iy&Hkj 
pSu ughaA e/kqeD[kh tkus fdruh yach ;k=k dj cw
gSA fQj euq’; dks cqn~f/k feyh gS] foo
gSA  

i) phaVh vkSj e/kqeD[kh esa D;k lekurk gS
dddd) nksuksa i{kh gSa  
xxxx) nksuksa fnu&Hkj ifjJe djrh gSa 

ii) *O;FkZ* dk vFkZ crk,¡A 
 dddd) vFkZoku           

iii) *y{eh* fdls dgrs gSa\  
 dddd) ikoZrh dks   

iv) *gkFk ij gkFk /kjus* dk vk”k; D;k gS
 dddd) idM+ dj j[kuk   

v) lQyrk fdls ugha feyrh gS

 dddd) izkf.k;ksa dks    

2 fuEufyf[kr xn~;ka”k dks i<+dj lacaf/kr iz”uksa ds mÙkj fyf[k,A

ml fnu xk¡/khth dks ,d igkM+h xk¡o esa tulHkk dks lacksf/kr djuk FkkA
nwljh rjQ og xk¡o FkkA xk¡/khth rst+h ds lkFk igkM+ dh p<+kbZ 
fd ,d ckjg&rsjg o’kZ dh yM+dh vius pkj&ik¡p lky ds HkkbZ dks da/ks ij fcBk, mlh p<+kbZ ij p<+ 
jgh gSA  yM+dh ilhus ls yFkiFk gks pqdh FkhA xk¡/kh th dks yM+dh ij n;k vkbZA vkxs c<+dj cksys]

 

            fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                    okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2020-21)     

                                                                

                                                

lHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSAlHkh iz”uksa ds mŸkj nsuk vfuok;Z gaSA    

([k.M & d[k.M & d[k.M & d[k.M & d)    

x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, iz”uksa ds mÙkj fy[ksa &                

ifjJe dks lQyrk dh dqath ekuk x;k gSA thou esa lQyrk iq:’kkFkZ ls gh izkIr gksrh gSA dgk Hkh 
x;k gS & mn~;ksxh flag iq:’k dks y{eh dk oj.k gSA t+ks HkkX;oknh gSa mUgsa dqN ugha feyrkA
gkFk&ij&gkFk /kjs jg tkrs gSaA volj muds lkeus ls fudy tkrk gSA HkkX; dfBu ifjJe dk gh 

uke gSA izd`fr dks gh nsf[k,A lkjs tM+&psru vius dk;Z esa yxs jgrs gSaA phaVh dks Hkh iy&Hkj 
e/kqeD[kh tkus fdruh yach ;k=k dj cw¡n &cw¡n e/kq tqVkrh gSA eqjxs dks lqcg c¡kx yxkuh gh 

/k feyh gS] foosd feyk gSA og fuBYyk cSBs rks lQyrk dh dkeuk djuk O;FkZ 

phaVh vkSj e/kqeD[kh esa D;k lekurk gS\ 
  [k[k[k[k) nksuksa vkylh gSa         

nksuksa fnu&Hkj ifjJe djrh gSa  ?k?k?k?k) nksuksa >xM+kyw gSaA 

vFkZoku           [k[k[k[k) lQy     xxxx) csdkj     ?k?k?k?k

[k[k[k[k) ljLorh dks  xxxx) iRuh dks   ?k?k?k?k

*gkFk ij gkFk /kjus* dk vk”k; D;k gS\ 
idM+ dj j[kuk   [k[k[k[k) nksLrh cukuk    xxxx) ifjJe djuk  ?k?k?k?k

lQyrk fdls ugha feyrh gS\ 

[k[k[k[k) fuBYys O;fDr dks  xxxx) fon~oku dks    ?k?k?k?k

fuEufyf[kr xn~;ka”k dks i<+dj lacaf/kr iz”uksa ds mÙkj fyf[k,A     

ml fnu xk¡/khth dks ,d igkM+h xk¡o esa tulHkk dks lacksf/kr djuk FkkA igkM+ dh Å¡pkbZ dks ikj dj 
nwljh rjQ og xk¡o FkkA xk¡/khth rst+h ds lkFk igkM+ dh p<+kbZ ij p<+ jgs FksA vpk
fd ,d ckjg&rsjg o’kZ dh yM+dh vius pkj&ik¡p lky ds HkkbZ dks da/ks ij fcBk, mlh p<+kbZ ij p<+ 

yM+dh ilhus ls yFkiFk gks pqdh FkhA xk¡/kh th dks yM+dh ij n;k vkbZA vkxs c<+dj cksys]
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                                [1x5=5]    

ifjJe dks lQyrk dh dqath ekuk x;k gSA thou esa lQyrk iq:’kkFkZ ls gh izkIr gksrh gSA dgk Hkh 
dks y{eh dk oj.k gSA t+ks HkkX;oknh gSa mUgsa dqN ugha feyrkA os 

gkFk&ij&gkFk /kjs jg tkrs gSaA volj muds lkeus ls fudy tkrk gSA HkkX; dfBu ifjJe dk gh 
uke gSA izd`fr dks gh nsf[k,A lkjs tM+&psru vius dk;Z esa yxs jgrs gSaA phaVh dks Hkh iy&Hkj 

¡n &cw¡n e/kq tqVkrh gSA eqjxs dks lqcg c¡kx yxkuh gh 
d feyk gSA og fuBYyk cSBs rks lQyrk dh dkeuk djuk O;FkZ 

?k?k?k?k) vlQyrk  

?k?k?k?k) /ku dh nsoh dks  

?k?k?k?k) fuBYyk gksuk  

?k?k?k?k) mnkj O;fDr dks  

 [1x5=5] 

igkM+ dh Å¡pkbZ dks ikj dj 
ij p<+ jgs FksA vpkud mUgksaus ns[kk 

fd ,d ckjg&rsjg o’kZ dh yM+dh vius pkj&ik¡p lky ds HkkbZ dks da/ks ij fcBk, mlh p<+kbZ ij p<+ 
yM+dh ilhus ls yFkiFk gks pqdh FkhA xk¡/kh th dks yM+dh ij n;k vkbZA vkxs c<+dj cksys] 



 
 
*yk csVh] viuk cks> eq>s ns nksA** yM+dh us vpdpkdj dgk] **dgk¡ gS cks>\ ;g rks esjk HkkbZ gSA** 
xk¡/kh th mls ns[krs jg x,A yM+dh us fdruh cM+h ckr] lgtrk ls dg nh FkhA tgk¡ izse gS] eerk gS] 
ogk¡ dksbZ Hkh cks> *cks>* ugha gksrk A 

i) xk¡/kh th igkM+ ij D;k djus x, Fks\  
                            dddd) lsok djus           [k[k[k[k) Hkk’k.k nsus     xxxx) lSj djus         ?k?k?k?k) ydM+h dh lgk;rk djus  
    ii) yM+dh ilhus ls yFkiFk D;ksa Fkh\  
 dddd) p<+kbZ ds dkj.k     [k[k[k[k) cks> ds dkj.k   xxxx) chekjh ds dkj.k  ?k?k?k?k) vius HkkbZ dks mBkus ds dkj.k  
 iii) xk¡/kh th dks yM+dh ij n;k D;ksa vkbZ\ 
 dddd) jksrk ns[kdj    [k[k[k[k) “kjkjr djrs ns[kdj  

xxxx) NksVh gksus ds dkj.k   ?k?k?k?k) mls ilhus ls yFkiFk ns[kdj  
iv)  yM+dh dks viuk HkkbZ cks> D;ksa ugha yxk\ 
dddd) izse ds dkj.k    [k[k[k[k) n;k ds dkj.k     xxxx) gydk gksus ds dkj.k ?k?k?k?k) HkkbZ dk eu j[kus ds dkj.k  
v)  yM+dh dh mez fdruh gS\ 
dddd) ckjg&rsjg o’kZ     [k[k[k[k) ckjg&iUnzg o’kZ    xxxx) nl &X;kjg o’kZ    ?k?k?k?k) rsjg&iUnzg o’kZ 

   (O;ogkfjd O;kdj.kO;ogkfjd O;kdj.kO;ogkfjd O;kdj.kO;ogkfjd O;kdj.k)                                    [1x18=18] 

3 dddd) jsfM;ks dh Hkk’kk ---------------gSA 
 i) ekSf[kd     ii) fyf[kr    iii) lkadsfrd    iv) nsoukxjh  
 [k[k[k[k) v]b]m]++_-----------------------Loj gSA 

i) nh?kZ     ii) ewy   iii) Iyqr    iv) dksbZ ugha  
 xxxx) vuqLokj ds mPpkj.k esa gok -----------------ls fudyrh gSA 
 i) eq¡g     ii) ukd    iii) ukd vkSj eq¡g    iv) daB 

?k?k?k?k) lcdqN tkuus okyk D;k dgykrk gS\ 
i) lkdkj     ii) vkfLrd   iii) loZK     iv) vfrfFk    
³³³³) *vuar* dk vusdkFkZd lewg dkSu lk gS\ 
i) vkdk”k] vfouk”kh]”ks’kukx  ii) mik;]?ku]fo’.kq   iii) ?kuk ]xksn] vkdk”k  iv) Lokeh] vfouk”kh]?kVk 
pppp) dky Hksn crkb,& 
 firk th vk, FksA 
i) Hkwrdky   ii) orZeku dky    iii) Hkfo’;r~ dky   iv) Hkwr dky vkSj orZeku dky  
NNNN) fØ;kfo”ks’k.k ds Hksn crkb, & 
 eSa izfrfnu [ksyrk gw¡A 
i) jhfrokpd   ii) dkyokpd   iii) LFkkuokpd  iv) ifj.kkeokpd   
tttt) fuEu “kCnksa esa ls L=hfyax “kCn Nk¡VsA 
i) ew[kZ    ii) ew[kkZ     iii) jLlk      iv) v/;{k 
>>>>) *fuxqZ.k* “kCn esa dkSu &lk milxZ yxk gSA 
i) xq.k   ii) fu     iii) fuj       iv) fuj~ 
¥¥¥¥) lgh foykse Hkfj,& (js[kkafdr “kCn) 

Hkkjr fons”kksa ls dqN oLrqvksa dk vk;kr djrk gS rks dqN oLrqvksa dk ----------------fu;kZr HkhA 

i)  Ø;    ii) foØ;    iii) fu;kZr       iv) vf/kd   
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 VVVV) *prqHkqZt* “kCn ------------------------gSA 

i)  :<+     ii)  ;ksx:<+   iii)  ekSf[kd    iv)  ns”kt  
BBBB) nks ;k nks ls vf/kd “kCnksa ;k “kCnk”kksa ds esy ls cus “kCn ------------------- dgykrs gSaA 
i)  rn~Hko    ii)  ns”kt    iii)  ekSf[kd    iv)  ;kSfxd 
MMMM) nknh ek¡ fdLls lqukus dh -------------- gSaA 
i)  vknh      ii)  vkfn      iii)  vknr     iv)  ykpkj      
<<<<) --------------------- LokLF; ds fy, mÙke gSA 
i)  vkylh    ii)  ew[kZ       iii)  vylh     iv)  mEehn         
.k.k.k.k) *ehrk ckgj ?kwe jgh gS* & ;g okD; fØ;k fo”ks’k.k ds Hksn dk mnkgj.k gS\ 
i)  LFkkuokpd   ii)  dkyokpd   iii)  jhfrokpd   iv)  ifj.kke okpd  
rrrr) *p<+kbZ* “kCn esa dkSu lk izR;; gS\ 
i)  rn~f/kr   ii)  milxZ     iii)  d`r     iv)  dksbZ ugha  
FkFkFkFk) *fogx* “kCn i;kZ;okph gS &  
i)  “kf”k       ii)  olq/kk      iii)  o/kw      iv)  uHkpj  
nnnn) “kqn~/k “kCn Nk¡Vs & 
i)  gLrk{ksi    ii)  gLr{ksi    iii)  glrk{ksi   iv)  gLrNsi  

4 ifBr in~;ka”k dks i<+dj iz”uksa ds mÙkj nsa &              [1x4=4] 

 Lo.kZ & J`a[kyk ds ca/ku esa viuh xfr] mM+ku lc Hkwys] 
 cl liuksa esa ns[k jgs gSa r: dh Qquxh ij ds >wys 

 dddd) dfork dh bu iafDr;ksa esa if{k;ksa ds -------------------- thou dk o.kZu gSA 
i)  Lora=    ii)  ijra=    iii)  lq[ke;     iv)  laU;klh  
[k[k[k[k) -----------------------fiatjs esa can i{kh O;fFkr gSA 
i)  lksus ds   ii)  Ykksgs ds   iii)  ihry ds     iv)  dksbZ Hkh ugha  
xxxx) i{kh ds fy, D;k liuk cudj jg x;k gS\ 
i)  lksus dh dVksjh esa [kkuk    ii)  ehBs Qy [kkuk   
iii)  taxy dh lSj    iv)  *Qquxh ij >wyk >wyuk 
?k?k?k?k) *Qquxh* “kCn dk vFkZ fyf[k,A 
i)  isM+        ii)  isM+ dh Mkyh    iii)Qwy  iv)   isM+ dh lcls Å¡ph Mkyh dk lcls Åijh Hkkx 

5 ifBr xn~;ka”k dks /;kuiwoZd i<+dj iz”uksa ds mÙkj fyf[k, &                                                                                             [1x5=5] 
eksjuh dk fodkl eksj ds leku peRdkfjd rks ugha] ijarq viuh yach /kwi&Nk¡gh xnZu] gok esa papy 
dyxh] ia[kksa dh “;ke “osr i=ys[kk] eaFkj xfr vkfn ls og Hkh eksj dh mi;qDr lgpkfj.kh gksus dk 
izek.k nsus yxhA uhykHk xzhok ds dkj.k eksj dk uke j[kk x;k & uhydaB vkSj mldh Nk;k ds le; 
jgus ds dkj.k ekslh dk ukedj.k gqvk & jk/kkA 

dddd) fdlds fodkl dks peRdkfjd dgk x;k gS \ 
i)  jk/kk         ii)eksj          iii)dqCtk      iv)dcwrj  
[k[k[k[k) eksj ds ukedj.k dk vk/kkj Fkk 
i)  mlds ia[kksa dh lqanjrk    ii)e/kqj vkokt    iii)laqnj dyxh  iv)uhyh xnZu dh lqUnjrk  
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xxxx) eksjuh dk uke jk/kk iM+k] D;ksafd 
i)  og lqanj Fkh       ii)mnkj Fkh  
iii)og lnk uhydaB ds lkFk jgrh Fkh   iv) lnk Nk;k esa cSBrh Fkh 
?k?k?k?k) *lgpkfj.kh* dk iqfYyax gS 
i)  lgpjh       ii)lgpj      iii)lgpjk        iv) lgpkjd  
³³³³) eksjuh ds ia[k ----------------------------FksA 
i)  “;ke&”osr    ii) “osr &gjk     iii) “;ke&gjk    iv) “osr &yky 

6 dddd)xk¡/kh th vkJe ds iqLrdky; esa fdruh iqLrdsa j[kus dk vuqeku fd;s Fks\   [1x3=3] 
i)  nks gtkj    ii) rhu gtkj    iii) pkj gtkj   iv) ik¡p gtkj  

 [k[k[k[k)*iYyfor ò{k* dk vk”k; gS 

 i)  gjs&Hkjs o`{k  ii) iYyojfgr   iii) NksVs o`{k    iv) Qwyksa okyk Nr 

 xxxx);klqdh&pku dgk¡ jgrk Fkk\  

i)  rkslks, esa    ii) fon~;ky; ds ikl   iii) MsusupksQq esa   iv) LVs”ku ds ikl   
[k.M & [k o.kZukRed iz”u[k.M & [k o.kZukRed iz”u[k.M & [k o.kZukRed iz”u[k.M & [k o.kZukRed iz”u    

7 fuEufyf[kr iz”uksa ds mÙkj nsa &          [1x4=4] 

 dddd) ys[kd us fgeky; dh csfV;k¡ fdUgsa dgk gS\ 
 [k[k[k[k) igkM+ :ih fdlku dh fpye fdls dgk x;k gS\ 

xxxx) ;klqdh & pku ds gkFk&iSj detksj gksus dk dkj.k D;k Fkk\ 
?k?k?k?k) dq¡oj flag ds eu esa ns”kHkfDr ,oa vktknh dh Hkkouk fdlus txkbZ\ 

8 y?kq mÙkjh; iz”uksa ds mÙkj fyf[k, &         [3x2=6] 

 dddd) [kku&iku dh fefJr laLd`fr ds ldjkRed i{k [ykHk] dks fyf[k,A 
 [k[k[k[k) vk¡[k esa frudk iM+us ds ckn ?keaMh dh D;k n”kk gqbZ\ 
 xxxx) nknh ek¡ ds ifjokj dh vkfFkZd fLFkfr D;ksa [kjkc gks xbZ\ 

9 nh?kZ mÙkjh; iz”uksa ds mÙkj fyf[k, &         [3x3=9] 

 dddd) feBkbZokys esa os dkSu&dkSu ls xq.k Fks] ftudh otg ls cPps rks cPps] cM+s Hkh mldh vksj f[kapS  
          pys vkrs Fks\ 
 [k[k[k[k) ikB ds fdu izlaxksa ls irk pyrk gS fd dq¡oj flag lkglh] mnkj ,oa LokfHkekuh O;fDr Fks\ 
 xxxx) fdlh ,d nksgs,d nksgs,d nksgs,d nksgs dk HkkokFkZ fyf[k,A  

  i)  dfg jghe laifr lxs] cur cgq jhrA 
                fcifr dlkSVh ts dls] rsbZ lk¡ps ehrAA 

  ii)  /kjrh dh lh jhr gS] lhr /kke vkSj esgA 
     tSls ijs lks lfg jgs] R;ksa jghe ;g nsgAA 
10 cky egkHkkjr dFkk vk/kkfjr iz”u & (fdUgha ik¡p iz”uksa ds mÙkj nsa)    [5x2=10] 

 dddd) “kkaruq] xaxk ds fdl O;ogkj ls pfdr Fks\ 
[k[k[k[k) d.kZ ikB ds vk/kkj ij crk,¡ fd uxj esa lekjksg dk vk;kstu fdl m)s”; ls fd;k  
   x;k Fkk\ 
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xxxx)  ckyiu esa f”k{kk xzg.k djrs le; vkJe esa nzqin us nzks.kkpk;Z dks D;k opu fn;k\ 
?k?k?k?k)  lR;orh ds firk us jktk “kkUruq ds lkeus D;k “krZ j[kh\ 
³³³³)   Hkhelsu cw<+s canj dks yk¡?kdj vkxs D;ksa ugha c<+s\ 
pppp)   ;qf/kf’Bj udqy dks gh thfor djus dk ojnku ;{k ls D;ksa ek¡xrs gSa\ 
NNNN)    nzkSinh Lo;aoj esa d.kZ dh vlQyrk  dk dkj.k D;k Fkk\ 
tttt)   ikaMoksa us fdl futZu ou dks viuh jkt/kkuh cuk;k rFkk mUgksaus fdrus o’kZ ogk¡ “kklu fd;k\ 
 

                                            ys[kuys[kuys[kuys[ku    
11 fdl ,d fo’k; ij vuqPNsn fy[ksaA         [6] 

 fgeky;fgeky;fgeky;fgeky;                                
ladsr fcUnq% 

• Hkwfedk  

• egÙo 

• milagkj  
 
 Loar=rk fnol Loar=rk fnol Loar=rk fnol Loar=rk fnol     

ladsr fcUnq 

• Hkwfedk 

• egÙo 

• ioZ dk vk;kstu 

• milagkj  

e/kqj opue/kqj opue/kqj opue/kqj opu    
ladsr fcUnq 

• Hkwfedk 

• e/kqj opu ds ykHk&gkfu 

• milagkj 
 
12 vius NksVs HkkbZ dks i= fy[kdj nSfud O;k;ked djus dk egRo le>kb,A        [5] 

;k;k;k;k    
 Okkn&fookn izfr;ksfxrk thrus ij fe= dks c/kkbZ i= fyf[k,A 
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                   DELHI PUBLIC SCHOOL, RANCHI 

                       ANNUAL EXAMINATION – ( 2020-21) 

Class – VII         Subject  - Mathematics 

Time : 3 hrs.         F.M. : 80   

Attempt all questions. However there are internal choices. Rough work to be done in the right 

margin. 

General Instructions 

1. The Question paper contains two parts :-  Part – A  &  Part – B. 

2. Both parts have internal choices. 

3. Part A consists of two sections 1 & 2. 

4. Section 1 has 16 questions of 1 mark each. Internal choice is there in 5 questions. 

5. Section 2 has 4 questions on case study. Each case study has case based 5 sub parts. 

Examinee has to be attempt any 4 sub parts out of 5 i.e. 16 marks. 

6. Question no. 21 to 26 are very short answer type questions of 2 marks each i.e. 12 marks. 

7. Question no. 27 to 33 are short answer type questions of 3 marks each i.e. 21 marks. 

8. Question no. 34 to 36 are long answer type questions of 5 marks each i.e. 15 marks. 

9. Internal choices is provided in 2 questions of 2 marks, 2 questions of 3 marks each and 1 

question of five marks. 

Part - A 

Section – A 

                Section – I       (1 x 16=16) 

1. The sum of two integers is –11. If one of them is 9, find the other. 

OR 

The difference of an integer a and (–5) is –3. Find the value of a. 

2. Solve :  5x – 6 = 4x – 2. 

3. The sum of two consecutive whole numbers is 43. Find the smaller number. 

OR 

If 5 is subtracted from three times a number, the result is 16. Find the number. 

4. Find the angle which is its own complement. 

5. Two supplementary angles differ by 34
O
. Find the angles. 

6. Express  
����
���   in standard form. 
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7. Represent  
��
��   and  

���
�   on the number line. 

OR 

Which of the two rational numbers  
–�
��  and  

–�
��  is greater ? 

8. Construct an equilateral triangle of each side 5cm. 

9. Add :  5x
2
 – 7x + 3 ,  –8x

2
 + 2x – 5 ,  7x

2
 – x – 2. 

OR 

Subtract :  (2x
2
 – 5x + 7)  from  (3x

2
 + 4x – 6) 

10. Simplify and express  
�
�� –2

  ×  
�
�� –3

 as a rational number. 

11. Find :  (6
–1

 –  8
–1

)
–1 

. 

OR 

Write  3,18,65,00,000  in standard form. 

12. How may lines of symmetry does an equilateral triangle have ? What is the angle of 

rotational symmetry of an equilateral triangle ?  

13. How may lines of symmetry does a rhombus have ? 

14. Write 2 letters of the English alphabet which has no lines of symmetry. 

15. Draw the net of a square pyramid. 

16. Write the vertical and horizontal cross-section of a circular pipe. 

Part - A 

Section – A 

             Section – II                     (4 x 4=16) 

Attempt any four subparts out of five subparts. 

CASE STUDY BASED-1 

NAVIGATION 

17. The Pythagoras property is useful for two dimensional navigation. For instance if you are 

at a sea and navigation at any point P on hypotenuse that is 300 miles north and 400 miles 

west, we can use this theorem to find the distance from our ship to that point. 

                        North 

                                                              P   Distance in miles 

                                West                                        O Ship 

                                                    Distance in miles 
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(a) Distance of a point P from north is 

(i) 400 miles   (ii) 300 miles    (iii) 500 miles    (iv) None of these 

(b) Distance OP= 

  (i) 400 miles   (ii) 300 miles    (iii) 500 miles    (iv) None of these 

(c) The Pythagoras property is useful for _________ for ships. 

(i) two dimensional navigation (ii) three dimensional navigation 

(iii) pin point locations   (iv) none of these 

(d) The Pythagoras property is applied to 

(i) Scalene triangle   (ii) Similar triangle 

(iii) Right angled triangle  (iv) Congruent triangle 

(e) While navigation if point P is 12m in north and 13 m in west then distance OP= 

 (i) √300  m   (ii) √313 m    (iii) √331 m   (iv) √133 m 

Case Study Based-2 

NUMBER CARDS 

18. Group of friends playing with cards bearing numbers 5 to 50.All cards placed in a box and 

are mixed thoroughly one friend withdraws the card from the box at random and replace it. 

 Answer the questions based on above. 

(a) What is the probability that the card withdrawn from the box bears a prime number 

less than 10 ? 

(i) 
�

��     (ii)  
�

��    (iii) 
�

��    (iv) �� 

(b) What is the probability that the card withdrawn from the box bears a number which 

is a perfect square? 

(i) 
�

��    (ii) 
�

��     (iii) 
�

��    (iv) �
��  

(c) What is the probability that the card withdrawn from the box bears a number which 

is multiple of 7 between 40 and 50. 

(i) 
�

��     (ii)  
�

��    (iii) 
�

��    (iv) �
�� 

(d) Probability of drawing a card bearing number less than 5. 

(i) 0     (ii)  
�

��    (iii) 
�

��    (iv) �
�� 



(e) Probability of drawing a card bearing number from 5 and 50.

 (i) 1        (ii) 0    (iii) 0.05    (iv) None of these

FESTIVAL RAKSHABANDHAN

Rakhi is a thread that binds two souls in a bond of joy forever……….

19. Ramu prepares a Rakhi for friend Ayub’s sister.

and breadth 6cm inscribed in a circle.

(a)  The area of the rectangle is

(i) 48 sq cm   (ii) 24 sq.m    (iii) 48 sq.m   (iv) None of these

(b) The diagonal of the rectangle is 

(i) 5 m       (ii) 10 cm    (iii) 7m    (iv) 7 cm

(c) The area of the circle is 

(i) 78.5 sq.cm   (ii) 78.6 sq.m   (iii) 76

(d) The area of the circle excluding the area of the rectangle is

(i) 30.5 sq.cm   (ii) 30.6 sq.m   (iii)36 sq.cm    (iv) 36 sq.m

(e) The Circumference of the circle is 

 (a) 34.1cm    (ii) 34.1 m   (iii) 31.4 m     (iv) 31.4 cm

CORONAVIRUS PANDEMIC

“Try to be like the turtle

20. A farmer Umesh bought a buffalo for Rs 44000 and a cow for Rs 18000.

pandemic crisis he sold the buffalo at a loss of 5% but made a profit of 10% on 

 

~ 4 ~ 

Probability of drawing a card bearing number from 5 and 50. 

(i) 1        (ii) 0    (iii) 0.05    (iv) None of these 

 

Case Study Based-3 

FESTIVAL RAKSHABANDHAN 

Rakhi is a thread that binds two souls in a bond of joy forever……….

Ramu prepares a Rakhi for friend Ayub’s sister. It consists of a rectangle of length 8cm 

and breadth 6cm inscribed in a circle. Ayub also helped him. 

 

The area of the rectangle is 

(i) 48 sq cm   (ii) 24 sq.m    (iii) 48 sq.m   (iv) None of these 

The diagonal of the rectangle is  

cm    (iii) 7m    (iv) 7 cm 

The area of the circle is  

sq.cm   (ii) 78.6 sq.m   (iii) 76.8 sq.m   (iv) 76.8 sq.cm 

The area of the circle excluding the area of the rectangle is 

sq.cm   (ii) 30.6 sq.m   (iii)36 sq.cm    (iv) 36 sq.m 

The Circumference of the circle is  

(a) 34.1cm    (ii) 34.1 m   (iii) 31.4 m     (iv) 31.4 cm 

Case study Based-4 

CORONAVIRUS PANDEMIC 

“Try to be like the turtle-at ease in your own shell.” 

A farmer Umesh bought a buffalo for Rs 44000 and a cow for Rs 18000.

pandemic crisis he sold the buffalo at a loss of 5% but made a profit of 10% on 

Rakhi is a thread that binds two souls in a bond of joy forever………. 

It consists of a rectangle of length 8cm 

A farmer Umesh bought a buffalo for Rs 44000 and a cow for Rs 18000. Due to this 

pandemic crisis he sold the buffalo at a loss of 5% but made a profit of 10% on the cow. 
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(a) The net result of the transaction is 

(i) Loss of Rs200   (ii) Profit of Rs 400  (iii) Loss of RS 400 (iv) Profit of Rs 200 

(b) Loss on buffalo is 

(i) Rs 2200     (ii) Rs 220     (iii) Rs 22000   (iv) None of these 

(c) Profit on cow is 

(i) Rs 180    (ii) Rs 1800   (iii) Rs 18000     (iv) 19,800 

(d) Total C.P of buffalo and cow is 

(i) Rs 62,000   (ii) Rs 63,000  (iii) Rs 61,600   (iv) 66,100 

(e) Total S.P of buffalo and cow is 

 (i) Rs 62,000   (ii) Rs 63,000  (iii) Rs 61,600   (iv) 66,100 

 

 Part - B 

           Section – B               (2 x 6 = 12) 

21. Simplify  :  { –13 – (–27) } +  { –25 – (–40) } 

22. Solve for x : 

�
� x   +   

�
� x   =   

�
� x   +   

�
�   

OR 

Rahul's father is thrice as old as Rahul. After 12 years he will be just twice his son. Find 

their present ages. 

23. A basket contains 350 eggs. If 12% of the eggs are rotten, how many eggs are good enough 

to be sold ? 

OR 

Find the percentage of pure gold in 22 carat gold, if 24 carat gold is 100% pure gold. 

24. List five rational numbers between  
–�
�    and  

–�
�   . 

25. Simplify  :     
�� × �� × �

� × ��  

26. Write the centre of Rotation and the order of Rotation of  (a) an Equilateral triangle  and  

(b)  Circle. 
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       Section – C           (3 x 7 = 21) 

27. Renu spends  
�
�  of her income on household expenses. Her monthly income is Rs. 30,000. 

How much does she save every month ? 

28. In ∆ABC, AB = AC and BD = DC. Prove that ∆ADB ≅ ∆ADC and hence show that (i) 

∠ADB = ∠ADC   (ii) ∠BAD = ∠CAD. 

 

OR 

 

 In the figure,   

 PA ⊥ AB,  QB ⊥ AB ,  PA = QB. 

 Prove that,  ∆OAP ≅ ∆OBQ.  Is OA = OB ? 

29. A bus is moving at an average speed of  46 
�
�  km/h. How much distance will it cover in    

2 
�
�  hours ? 

30. Construct ∆PQR if PQ = 5cm, ∠PQR = 105
O
 and ∠QRP = 40

O
. Give explanation for your 

construction. 

31. Subtract (2a – 3b + 4c) from the sum of (a + 3b – 4c),  (4a – b + 9c)  and  (–2b + 3c – a). 

OR 

Subtract the sum of  (8a – 6a
2
 + 9)  and  (–10a – 8 + 8a

2
)  from  –3. 

32. If  9 × 3
n
  =  3

6
,  find the value of  n . 

33. Draw the net of a cylinder, cone and cuboid. 
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        Section – D     (5 x 3 = 15) 

34. A room is 7m long and 5m broad. It has one door measuring 2m by 1.5m and two 

windows, each measuring (1.5m by 1m). The cost of painting the walls of the room at  

Rs. 80 per m
2
 is Rs.  5280. Find the height of the room. 

               OR 

The inner circumference of a circular track is 220m and the width of the track is 7m. 

Calculate the cost of putting up a fence along the outer circle of the track at the rate of  

Rs. 50 per m. 

35. Simplify and find the value of the following expression when a = 3,  and  b = 1 

4 (a
2
 + b

2
 + 2ab) – [4 (a

2
 + b

2
 – 2ab) – {–b

3
 + 4 (a –3)}] 

36. Simplify  :  
�� × ���� � �� × ��

� × ���� � �� × ���� . 

 

************** 
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1. All questions are compulsory.

2. Marks are indicated against each question.
 

            I.  Very short answer questions:  

1. A crow flies 3m towards east and then 4m towards south. Its distance travelled is

a) 12m 

c) 5m 

2. Miniature circuit breakers(MCBs)

a) of fashion 
b) it is cheap and attractive 

c) latest technology    

d) it automatically turn off when

3. What is the difference between

4. What is dispersion of light? 

II.     Short answer questions:    

5. Why do we prefer to wear layers
6. a) State the two laws of reflection

b) What happens to a ray of light
7. A bus travelled the first 40km of a journey in one hour and the next 60km in the 

next   one hour. Calculate the 

             III.   Long answer question:      

8. a) What is the function of the

      rod in a room heater? 

b) Convert 25⁰C into ⁰F and Kelvin.
 

9. a) Which mirror or lens is used

i) rear-view mirror 

iii) Periscope 

b) What is lateral inversion? 

 
10.    a) Define ‘time period of a 

b) An oscillating body completes

c) Name one device used to measure
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towards east and then 4m towards south. Its distance travelled is

b) 7m 

d) 19m 

breakers(MCBs) are nowadays used in place of fuses because

 

d) it automatically turn off when  high current flows through circuit 

between overloading and short-circuiting?  

       

                      

layers of clothing during winter?   
reflection of light.     

light falling normally on a mirror? 
A bus travelled the first 40km of a journey in one hour and the next 60km in the 

 average speed of the bus.   

       

the polished curved surface at the back of the heating

         

Kelvin. 

used as      

ii) magnifying glass 

iv) reflector of torch 

 What will be the mirror image of the word ‘POTATO’?

 pendulum’.  

completes 60 vibrations in one minute. Calculate its

measure time. 
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                (1 x 4 = 4) 

towards east and then 4m towards south. Its distance travelled is                                      

because                                             

    

    

                      (2x3=6) 

    
    

A bus travelled the first 40km of a journey in one hour and the next 60km in the  

      

     (3x4=12) 

heating  

         

‘POTATO’? 

its time period. 



    11.   a) What is electric fuse? What are its characteristics?       

b) Can we replace fuse with any piece of wire? Support your answer.  

c) On which effect of electric current does it work? 

IV.    Very long answer question:              (5) 

12.      Either A or B.             
A) 

a. What is the difference between speedometer and odometer? 

  b. The distance-time data for a moving body is given below- 
 

Time(in sec) 0 1 2 3 4 5 

Distance covered(in m) 0 10 20 30 40 50 

 

i. Plot the distance-time graph and calculate the speed of the body from the plot. 

ii. At what time body will cover 35m of the distance? 
B) 

a) What is an electromagnet? State two ways by which its strength can be varied. 

b) What is an electric bell? On which principle of electricity does it work? 

c) Explain the working of an electric bell with the help of diagram. 

CHEMISTRY 

I.  Very short answer questions:               (1 x 5 = 5) 

  1. When soil is highly acidic, name the salt which is used to neutralize it : 

(a) Quick lime  (b) Slake lime 

(c) both A & B  (d) manure 

  2. When magnesium ribbon is burnt in air white ash is formed, chemical formula for white ash is : 

a) MgO  b) Mg(OH)2  c) Mg2O d) MgOH 

3. Name the layer of vegetation in the forest which occurs just below the canopy. 

4. When is world water day celebrated ? 

5. What is bar screen in wwtp. 

II.     Short answer questions:                              (2x4 = 8) 

6. When iron nail is dipped in copper sulphate solution, the colour of solution changes to green. 

a) Name the compound which turns copper sulphate  solution green.  

b) Name the metal which displaces copper from solution.      (1+ 1= 2) 

7. What are decomposers? What is the role of decomposers in forest?   (1+ 1 = 2) 

8. What is sludge ? How sludge is separated?              (1+ 1= 2) 

9. Name the bacteria which grows in aeration tank. Write one byproduct formed in waste  
    water treatment plant. (1+1=2) 

III.  Long answer question:                     (3x3=9) 

         10. a) What is the change in the color of indicator with the given solution.: 

i) Soap solution 

ii) Lemon juice 
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b) What is the colour of water when lichen is extracted from plant & boiled 

with water. ( 1+ 1+ 1 = 3) 

11.    (a) Write the chemical formula of rust.  

     (b) By which method rusting can be prevented ? Give two methods. (1+2=3) 

12.    (a) How forest prevents flood? 

    (b) Write two ecological benefits of forest. (1+2=3) 

IV.    Very long answer question:             (5)    

13.       (a)Draw a diagram of ground water and label aquifer &water table. 

b) Explain how the construction of buildings, shops etc. affect the water table.(3+2=5) 

                                      OR 

a) Draw a labeled diagram of drip irrigation. 

b) Discuss increase in agricultural activities has increased the demand for ground water. 

           BIOLOGY 

I. Choose and write the correct option –               (1x2=2) 

1. The correct sequence of blood flow between the heart and the lungs is –  

a. right atrium, right ventricle, lungs, left ventricle, left atrium 

b. right atrium, right ventricle, lungs, left atrium, left ventricle 

c. left atrium, left ventricle, lungs, right atrium, right ventricle 

d. right atrium, left atrium, lungs, right ventricle, left ventricle 

2.  Which of these fibres will smell like burning hair on being burnt –  

a. Wool    b. cotton   c. jute    d. nylon 

II. Answer in short :-                                        (2 x1=2) 

1. Why should soil contain enough air as well as water for healthy plant growth? 

2. Why do animals migrate? 

III. Answer briefly -                                        (2x4= 8) 

1. Why are all green plants called autotrophs and all animals are called 

heterotrophs? 

2. Name any two digestive glands and the digestive juice they secrete. 

3. What is dialysis ? When does it become necessary? 

4. Name and explain any two steps in processing of wool. 

 

IV. Answer as directed  -                                       (3x3=9) 

1. Draw a well labelled diagram of the soil profile and write the characteristics of 

any two layers. 

2.  Give three reasons to explain why a polar bear cannot survive in the desert. 
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3. Give reasons for the following statements –  

a. Fishes die when they are taken out of water. 

b. One should always breathe through the nose. 

c. Smoking cigarettes harms the lungs. 

 
V. Answer any one question in detail –       (5)  

1. Draw a neat, labelled diagram to show budding in yeast . 

2. Explain the steps of the process in short. 

 

                     OR 
 

1. Draw a labelled diagram to show the process of fertilization in a flower.  

2. How is pollination different from fertilization? (one point) . Why do you think seed 

dispersal is necessary for plants? (2 points). 

 

 

 

******************* 
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     DELHI PUBLIC SCHOOL
             SAIL TOWNSHIP, RANCHI

                  ANNUAL EXAMINATION (2020

   Class:- VII           

        Time – 3 Hrs.     

1. All questions are compulsory.

2. Marks are indicated against each question.

1.  Fill in the blanks-     

  a) _____was a book written by hand.

  b) An association of Brahman land owners in South India was known 

  c) _________was a tax on farmers which was 50% of the total produce.

  d) ______ was a numerical value to assess the rank and salary of a mansabdar.

  e) The top of a building ,in most of the cases

2. Choose the correct option-   

  i)The script of Punjabi language is

     a) Devnagri   b) Roman

  ii) the Sufi masters held their assemblies in

      a) hospices   b) mosque

  iii) A tax levied by Marathas which was one 

      a) Sardeshmukhi  b)Kharaj

  iv) Jantar-Mantar is not contruscted in this city

      a)Agra              b)Ujjain

3.   Answer these questions-   

     a) How important was the income from land revenue to the stability of Mughal Empire?

     b) How did a temple communicate the importance of a king?

     c) How was the administration of ahom state 

4.   Answer these questions in detail

 a) (i) List any three policies adopted by Nizam

         position in Hyderabad.  (3)

      (ii)Why did the nawabs of Awadh and Bengal try to do away

     b) Explain any five major religious movements of South India during the medieval period.

 

DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION (2020-2021) 

                                    Subject:

                                F.M. :- 

All questions are compulsory. 

Marks are indicated against each question. 

              HISTORY 

            

_____was a book written by hand. 

An association of Brahman land owners in South India was known as_______.

_________was a tax on farmers which was 50% of the total produce. 

______ was a numerical value to assess the rank and salary of a mansabdar.

The top of a building ,in most of the cases- temples was known as a _______.

            

i)The script of Punjabi language is- 

b) Roman  c) Gurmukhi  d) Persian 

ii) the Sufi masters held their assemblies in- 

b) mosque  c) dargah   d) none of these

levied by Marathas which was one -fourth of the total produce- 

b)Kharaj  c) Chauth      d)None of these

Mantar is not contruscted in this city- 

b)Ujjain        c) Jaipur            d) Varanasi 

            

a) How important was the income from land revenue to the stability of Mughal Empire?

b) How did a temple communicate the importance of a king? 

c) How was the administration of ahom state organised? 

Answer these questions in detail-            

(i) List any three policies adopted by Nizam-ul-mulk Asaf Jah to strengthen his 

(3) 

ii)Why did the nawabs of Awadh and Bengal try to do away with the jagirdari system?

Explain any five major religious movements of South India during the medieval period.
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  (1×5=5) 

as_______. 

______ was a numerical value to assess the rank and salary of a mansabdar. 

temples was known as a _______. 

  (1×4=4) 

d) none of these 

 

d)None of these 

 

  (3×3=9) 

a) How important was the income from land revenue to the stability of Mughal Empire? 

  (5×2=10) 

mulk Asaf Jah to strengthen his  

with the jagirdari system?  (2) 

Explain any five major religious movements of South India during the medieval period.(5) 



 

                                     CIVICS 

5. Fill in the blanks-                   (1×4=4) 

   a) ______was a movement that took place in USA in the late 1950's to push for equal  

rights for African- Americans. 

  b) People who come from other countries for treatment at low cost are known as_____. 

  c) _________is a particular area from which all the voters living there choose  

their  representatives. 

  d)________ is a situation when more than half the number in a group supports a decision or  

an idea. 

6. Answer these questions-                (3×5=15) 

a)  Define 'de-valued'. Explain how household task are physically demanding and time  

consuming and yet are invisible and de-valued. (1+2=3) 

b) What is discrimination? Discuss the reasons why poor girls drop out of schools? (1+2=3) 

c) What do you mean by mass media ?Why is it important for the media to be independent?(1+2=3) 

d)What is the meaning of' brand' in advertising ? Discuss two ways in which advertising  

affects issues of equality in a democracy.(1+2=3) 

e) What are the distinct features of a weekly market? (3) 

7. Answer in detail-                    (1×5=5) 

  a)  (i) What does this expression mean " Power over the ballot box"? (2) 

       (ii) Why our constitution is a ' living document' in our struggle for equality?(3) 

GEOGRAPHY 

I. Answer the following questions in very short :-           (1x5=5) 

1. Give the term for the following sentence :- 

   “It is a trade in which goods are exchanged without the use of money.” 

2. Rocks roll down, crack, and hit each other are broken down into small fragments.  

     These  smaller particles are called ____________ . 

3. Which layer of the Earth is having a radius of about 3500 km? 

a) Mantle 

b) Core 

c) Crust 

d) None of these 

4. Name the two rivers that drain in Velds. 
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5. Why are the Prairies known as the ‘Granaries of the World’? 

II. Answer the following questions in short:-              (3x2=6) 

1. How are tides useful to us? Explain any three points. 

2. Explain any three features of Tropical Evergreen Forest. 

III. Answer the following question in detail:-              (5x2=10) 

1. a) Define ‘Weathering’ and ‘Erosion’. (1+1=2) 

b) Explain any three features made by a river in a flood plain. (3) 

2. a) Which is the most plentiful gas in the air? How do plants get it from the air. (1+1=2)  

      b) How does air circulation takes place? (3) 

IV. Draw and label the diagram of ‘Major Pressure Belts ’.         (4) 

V. On the outline map of world locate and label the following items:-     (1x3=3) 

   a) Cape Town Seaport 

b) New York Airport 

c) Mumbai Airport 

 

 

 ******************* 
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    d{kk& lIre~d{kk& lIre~d{kk& lIre~d{kk& lIre~            

                le;& le;& le;& le;& 1½ ?kaVs?kaVs?kaVs?kaVs            

 

1 x|ka”ka ifBRok funsZ”kkuqlkja iz”ukuke~ mÙkjkf.k fy[kr & 

dspu dFk;fUr ;r~ laLd`rHkk’kk;ka dsoya /kkfeZda lkfgR;e~ orZrs & ,’kk /kkj.kk lehphuk ukfLrA laLdr̀xzUFks’kq 
ekuuthouk; fofo/kk% fo’k;k% lekfo’Vk% lfUr A egkiq:’kk.kka efr%] mÙketukuka 
p of.kZZrk% lfUrA vr% vLekfHk% laLd`ra vo”;eso

(d) ,dinsu mÙkjr &    

(i) vLekfHk% vo”;eso fde~ iBuh;e~

(ii) ds’kke~ thoui)fr% laLdr̀xzUFks’kq of.kZrk% lfUr

([k) ,dokD;su mÙkjr &   

(i)  ekuothouk; fofo/kk% fo’k;k% dq= 

(ii) dspu fde~ dFk;fUr\ 

(x) mfpra fodYia fpuqr &   

(i)  *ekuothouk;* v= dk foHkfDr iz;qDrk

(v) rr̀h;k    (c) prqFkhZ   (l) iapeh   

(ii)  *lfUr* v= d% ydkj% iz;qDr%

(v) yV~   (c) y`V~    (l) y³~    

(iii)  *laLd`re~ vo”;eso iBuh;e~* v= d% vO

(v) laLd`ra    (c) vo”;eso   (l

(iv)  */kkj.kk* bfr inL; fyaxe~ fde~ vfLr

(v) iqfYyaxa   (c) L=hfyaxa    (l)

 

2 v/kksfyf[kre~ i|ka”ka ifBRok iz”ukuke

 mfnrs lw;sZ /kj.kh foglfrA 
 i{kh dwtfr deya fodlfrAA 
 unfr efUnjs mPpS<ZDdkA 
 lfjr% lfyys lsyfr ukSdkAA 

(d) ,dinsu mÙkjr &   

(i)  mfnrs lw;sZ dk foglfr\ 

(ii)  efUnjs dk unfr\ 
 

    fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                    okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk okf"kZd ijh{kk (2020-21)     

                                                                

                                

x|ka”ka ifBRok funsZ”kkuqlkja iz”ukuke~ mÙkjkf.k fy[kr &  

dFk;fUr ;r~ laLd`rHkk’kk;ka dsoya /kkfeZda lkfgR;e~ orZrs & ,’kk /kkj.kk lehphuk ukfLrA laLdr̀xzUFks’kq 
fo’k;k% lekfo’Vk% lfUr A egkiq:’kk.kka efr%] mÙketukuka /k`fr% lkekU;tukuka thoui)fr% 

Zrk% lfUrA vr% vLekfHk% laLd`ra vo”;eso iBuh;e~ A rsu euq’;L; lektL; p ifj’dkj% Hkosr~A

      

vLekfHk% vo”;eso fde~ iBuh;e~\ 

ds’kke~ thoui)fr% laLdr̀xzUFks’kq of.kZrk% lfUr\ 

      

ekuothouk; fofo/kk% fo’k;k% dq= lekfo’Vk% lfUr\ 

      

thouk;* v= dk foHkfDr iz;qDrk\ 

iapeh   (n) ‘k’Bh  

*lfUr* v= d% ydkj% iz;qDr%\ 

y³~    (n) yksV~ 

Ld`re~ vo”;eso iBuh;e~* v= d% vO;;in% iz;qDr%\ 

l) iBuh;e~   (n) u dkssfi  

*/kkj.kk* bfr inL; fyaxe~ fde~ vfLr\ 

) uiqaldfyaxa   (n) vU;fyaxa  

v/kksfyf[kre~ i|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr &     
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                                            fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~    
        iw.kkZad&4iw.kkZad&4iw.kkZad&4iw.kkZad&40000    

dFk;fUr ;r~ laLd`rHkk’kk;ka dsoya /kkfeZda lkfgR;e~ orZrs & ,’kk /kkj.kk lehphuk ukfLrA laLdr̀xzUFks’kq 
/k`fr% lkekU;tukuka thoui)fr% 

ektL; p ifj’dkj% Hkosr~A 

 [½X2=1] 

 [1X2=2] 

 [½X4=2] 

  

 [½X2=1] 



 

([k) ,dokD;su mÙkjr &          [1X2=2] 

(i)  ukSdk dq= lsyfr\ 

(ii)  mfnrs lw;sZ fde~ &fde~ Hkofr\ 

(x) mfpra fodYia fpuqr &          [½X4=2] 

(i)  *mfnrs lw;sZ i{kh dwtfr* v= dr`Zin% d%\ 

(v) mfnrs     (c) lw;sZ    (l) i{kh    (?k) dwtfr  

(ii)  */kj.kh* v= dk foHkfDr iz;qDrk\ 

(v) izFkek    (c) f}rh;k   (l) rr̀h;k   (?k) prqFkhZ  

(iii)  *foglfr* v= d% ydkj% iz;qDr%\ 

(v) yV~     (c) y`V~     (l) y³~     (?k) yksV~ 

(iv)  *unfr efUnjs mPpS% <Ddk v= d% vO;;in% iz;qDr%\ 

(v) unfr   (c) efUnjs   (l) mPpS%    (?k) <Ddk  

3 mnkgj.ke~ vuql`R; fjDrLFkkukfu iwj;r &        [½X8=4] 

  ,dopua            f}opua         cgqopua  
 ;Fkk    olfr Le         olr% Le     olfUr Le 
  iwt;fr Le         -----------------  ------------------- 
  -------------------------      j{kr% Le  ------------------- 
  pjfr Le      ------------------  -------------------     
  --------------------      -------------------- dqoZfUr Le     

4 eatw’kkr% inkfu fpRok lekukFkZdinkfu fy[kr &       [½X4=2] 

 (eatw’kk& ekrk] izLrjs] tUro%] us=kf.k) 

 (d) f”kyk;ka = -------------- 

 ([k) i”ko% = -------------- 

(x) u;ukfu = -------------- 

(?k) vEck = -------------- 

5 leqfpresyua d`Rok fy[kr &          [½X4=2] 

     d                              [k 
 ds”kjo.kZ%  izxrs% U;k;L; p izorZde~ 
 gfjro.kZ%   “kkS;ZL; R;kxL; p lwpd%  
 v”kksdpØe~  Lok/khurk;k% jk’VªxkSjoL; p izrhd% 
 f=o.kZ% /ot%  lq’kek;k% moZjrk;k% p lwpd%  

6 v/kksfyf[krokD;s’kq js[kkafdrinkfu vk/k`R; iz”ufuekZ.ka dq:r &             [1X4=4] 

 (d) vLekda f=o.kZ/ot% fo”ofot;h Hkosr~ 

([k) Lo/kekZr~ izekna o;a u dq;kZe~A 

(x) ,rr~ loZe vLekda usr`.kka ln~cq)s% lRQye~A 

(?k) “k=q.kka le{ka fo’k;% lqfuf”pr% Hkosr~A 
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7 v/kksfyf[krins’kq /kkro% ds lfUr\        [½X4=2] 

         ine~       /kkrq%  

(d) djksfr = -------------- 

([k) i”; = -------------- 

(x) Hkosr~ = -------------- 

(?k) fr’Bfr = -------------- 

 

8 v/kksfyf[kre~ le;okpdku~ v³~dku~ ins’kq fy[kr&      [½X6=3] 

 (d) 10%30 = --------------  ([k) 12%30 = -------------- 

(x) 11%00 = --------------  (?k) 04%30 = -------------- 

(³) 09%00 = --------------  (p) 1%%30 = -------------- 

 

9 foykseinkfu esy;r &          [½X4=2] 

 d              [k  

 eUne~  uwrue~ 
 uhpS%  fLuX/ke~ 
 dBksj%  mPpS% 
 iqjkrue~  f{kize~ 
 
10 mfprdFkukuka le{ka *vke~* vuqfprdFkukuka le{ka *u* bfr fy[kr &     [½X4=2] 

 (d) /kkoule;s v”o% [kknfrA --------------------- 

([k) m’Vª% i`’Bs Hkkja u ogfrA ------------------------ 

(x) flag% uhpS% Øks”kfrA ------------------------ 

(?k) iq’is’kq fp=ir³~xk% M;UrsA ------------------------ 

11 “kCn:ikf.k fy[kr &          [1X4=4] 

(d) dfo& r`rh;k foHkfDr 

([k) unh & lIreh foHkfDr 

(x) efr & iapeh foHkfDr 

(?k) fde~ (iq¡) & ‘k’Bh foHkfDr 

12 /kkrq:ikf.k fy[kr &          [1X5=5] 

(d) n`”k~ & y`V~ ydkj e/;e iq:’k 

([k) fy[k~ &yksV~ ydkj mÙke iq:’k 

(x) ue~ & fof/kfyax ydkj izFkeiq:’k% 

(?k) ik & yV~ ydkj mÙkeiq:’k 

(³) n`”k~ & y³~ ydkj izFkeiq:’k% 
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             DELHI PUBLIC SCHOOL, RANCHI 

                    ANNUAL EXAMINATION 2020-21 

                                Class : VII                              SUBJECT: German 

               TIME : 1½ Hours                                M.M. : 40 

__________________________________________________________ 

1. Schreib mit richtig Verbformen:             [1x5=5] 

mitkommen, anfangen, aufstehen, mitfahren, anziehen,  

 

a. Mein nerviger Kollege __________ heute leider auch ____.  

b. Wann __________ das heutige Theaterstück ____? 

c. Frederik __________ jeden Tag um 07:30 Uhr ____. 

d. Wir __________ bei einer Mitfahrgelegenheit ____. 

e. Was __________ ich nur zu meiner Hose ____? 

2.  E- mail schreiben:         [5] 

Liebe(r)_________, 

Juhhu! Morgen enden meine Prüfungen und in einer Woche fahren wir nach 

Spanien. Wir d.h. meine Mama, mein Papa und ich fahren nach Barcelona. 

Barcelona ist eine schöne Stadt und da ist jetzt sonnig.  

Der Strand dort ist wunderschön und das Wetter herrlich. Wir fahren auch nach 

Madrid. Insgesamt bleiben wir zwei Wochen in Spanien. Ich nehme meine 

Kamera mit. Wohin fährst du in Urlaub? Wann hast du Ferien? Und mit wem 

fährst du? Schreib mir bald. Ich warte auf deine Antwort. 

Viele Grüβe 

Stefan 

 

Schreib eine Antwort in circa. 40. Wörter mit dieses punkte. 

Wann hast du Ferien? 

Wohin fährst du in Urlaub? Mit wem? 

Wie lange bleibst du da? 

Was willst du da machen? 

Pg – 1 of 3 



3. Stell Fragen:              [1x5=5] 

a. _________________________________________? 

- Ich will Deutsch lernen. Also fahre ich nach Deutschland. 

b. _________________________________________? 

- Ich werde 13.  

c. _________________________________________? 

- Ja, das ist unser Ball. 

d. _________________________________________? 

- Nein, aber ich will es lernen. 

e. _________________________________________? 

- Ich brauche die Gitarre.  

4. Was passt zusammen:                       [1x5=5] 

a. Sind die Bücher für mich?  i. Ja, sie sind für dich. 

b. Sind die Pralinen für den Direktor? ii. Nein, das ist nicht unser Ball. 

c. Sind die Blumen für mich?  iii. ja, sie sind für ihn. 

d.  Ist das euer Ball?   iv. ja, das ist sein Fahrrad.  

e. Gehört das Fahrrad Markus?  v. nein, sie sind für sie. 

5. Lies den Text: 

Hallo Zusammen, Ich heiβe Nico und komme aus Berlin. Ich finde 

Campingferien Super! Man ist den ganzen Tag in kontakt mit Natur. Wir spielen, 

machen schöne Wanderungen, essen im Freien. Für meine Mutter bedeutet das 

wieder Arbeit, kochen, abwaschen usw. aber wir helfen alle mit. Wenn die 

Wetter schlecht ist, machen die Campingferien dann keine spaβ. 

A. Richtig oder falsch:                      [1x5=5] 

a. Nico meint, bei schlechtem Wetter ist Camping nicht so schön. 

b. Nicos Mutter muss auch in den Ferien arbeiten. 

c. Nico wandert nicht gern. 

d. Im Urlaub kocht Nico für seine Mutter. 

e. Nico macht Campingferien allein. 
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6. Schreib dieses Jahr in den Worten:        [½x10=5] 

a. 1984 

b. 2004 

c. 2007 

d. 1991 

e. 2020 

f. 1857 

g. 1764 

h. 1861 

i. 1526 

j. 1914 

 

7. Schreib die Richtigen Artikel             [½x10=5] 

a. Meer  b. See  c. Berg  d. Fluss e. Insel 

f. Gebirge  g. Land h. Strand i. Stadt j. Wald 

 

8. Ich kann, ich möchte oder ich will?             [1x5=5] 

1. Ich ______________ einen Kaffee und ein Glas Mineralwasser.  

2. Ich ______________ nicht ins Theater gehen, ich bin krank!  

3. Mach doch endlich das Licht aus, ich ______________ schlafen!  

4. Mach bitte das Licht aus, ich _____________ sonst nicht schlafen.  

5. Im Sommer _______________ ich eine neue Wohnung suchen.  

 

*************** 
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   DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

               ANNUAL EXAMINATION (2020-21) 

  

Class-VII                                                     Subject: French 

Time: 1½ Hrs.                                            M.M: 40 

 

Reading (5 MARKS) 

Unseen passage : 

1. Réponds aux questions:                                     2½ M 

 

1) Qui écrit la lettre ? 

2) Il écrit à qui ? 

3) Alex a combien de soeurs ? 

4) Où Alex habite- t-il ? 

5) Qu’est – ce qu’ Alex adore? 



 

2. Trouvez contraire dans la texte:                    2½ M 

1) Gentil – 

2) Grand – 

3) Déteste – 

4) Sur – 

5) Sans –  

 

 

Writing    ( 10 MARKS) 

1.Invitez votre ami/amie pour votre anniversaire en 35-40 Mots.      5M 

2. Décrivez cette image en 35- 40 mots.                   5M 

 

 

 

 

Grammer    ( 20 MARKS) 

 

1.Mettez les phrases suivantes à la forme interrogative .  3M 

     1) j’ai un stylo et un sac. ( II) 



     2) vous avez un stylo noir. ( III) 

     3) ils mangent peu de chocolat( I) 

    4) je vais chez mon ami. ( II) 

    5) ce sont des cadeaux. (III) 

    6) Nicole est dans sa chambre. ( I) 

 

2.Quelle heure est – il ?                                                            2M 

    1) 1 :00 pm – 

    2) 8 : 55 pm – 

    3) 12 : 00 pm –  

    4) 8: 45 am –  

3.Completez les phrases en utilisant de, du , d’ ,en, au , à, aux.        3M                                                                                                  

   1) Il vient _______ France. 

   2) il voyage ______ Rome _______ italie. 

  3) je suis _____ japon. 

  4) Nous sommes ___________ Argentine. 

  5) Étes – vous _________ Londres? 

  6) Non, je viens _______ Afganistan. 

 

4.Completez avec l’adjectif démonstratif:                       2M 

   1) il choisit ________ cravate, pas ______ chapeau. 

2) je veux _____ imperméable et ______ gants. 

5.conjuguez cette verbe :                                             3M 

1) nettoyer 

 

6. Changez aux formes négatif:                                   3M 

1) je vais au france. 

2) Tu es dans la maison. 



3) vous avez du courage. 

4) Tu choisit un fruits. 

5) Je fais une omelette. 

6) Elle achète une baguette. 

 

7. Écrivez l’impératif des ces verbes :                         2M 

1) se lever 

2)  se habiller  

 

8. Completez avec adjectif interrogatif:                       2M 

1) __________ est ton nom et _________ est ton adresse? 

2) ____________ chemise et ___________ pantalons portez – vous) 

Literature( 5 MARKS) 

 

1.Répondez ces questions:                                          5M 

 

1) Quel est le synonyme de france? 

2) Nommez deux aéroports français. 

3) Nommez deux ports français. 

4) Nommez des célèbres français. 

5) Nommez des magasins à paris. 

6) Nommez des jardins à paris. 

7) En quelle jour nous célèbre fête des Rois? 

8) En quelle jours nous célèbre La Toussaint ? 

9) En quelle jours nous célèbre fête nationale? 

10) En quelle jours nous célèbre pâques? 
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1. したのことば

したのことばしたのことば

したのことばをにほんごでかいてください。

をにほんごでかいてください。をにほんごでかいてください。

をにほんごでかいてください。

a. 4
th

 October

b. 18
th

 December

c. Monday 

d. 4 Japanese books

e. 3 pieces of 

f. 4 fishes 

g. 8 Pieces of egg

h. 5 Cars 

i. 5 Elephant

j. Apple 3 peace & 6 pieces of cakes

2. すべて

すべてすべて

すべて 

  

 の

のの

の 

  

 ひらがな

ひらがなひらがな

ひらがな

 

3. Write 10 lines passage

 

4.

4.4.

4. つぎ

つぎつぎ

つぎ 

  

 の

のの

の 

  

 ことば

ことばことば

ことば

 

  

 

1.

1.1.

1. やま

やまやま

やま 

  

  

  

 

2.

2.2.

2. けっこんする

けっこんするけっこんする

けっこんする

3.

3.3.

3. おにぎり

おにぎりおにぎり

おにぎり 

  

 

4.

4.4.

4. つくります

つくりますつくります

つくります

5.

5.5.

5. はんぶん

はんぶんはんぶん

はんぶん 

  

 

6.

6.6.

6. ゆき

ゆきゆき

ゆき 

  

 

7.

7.7.

7. たまご

たまごたまご

たまご 

  

 

8.

8.8.

8. にぎやかな

にぎやかなにぎやかな

にぎやかな

9.

9.9.

9. てんき

てんきてんき

てんき 

  

 

10.

10.10.

10. かいがん

かいがんかいがん

かいがん 

  

 

11.

11.11.

11. かえります

かえりますかえります

かえります

12.

12.12.

12. くだもの

くだものくだもの

くだもの 

  

 

13.

13.13.

13. うれしい

うれしいうれしい

うれしい 

  

 

14.

14.14.

14. えがお

えがおえがお

えがお 

  

 

15.

15.15.

15. いす

いすいす

いす 

  

 

16.

16.16.

16. はな

はなはな

はな 

  

 

17.

17.17.

17. つくえ

つくえつくえ

つくえ 

  

 

18.

18.18.

18. かえる

かえるかえる

かえる 

  

 

19.

19.19.

19. はち

はちはち

はち 

  

 

20.

20.20.

20. くじら

くじらくじら

くじら 
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                          Subject:- Japanese 

       M.M.-40 

をにほんごでかいてください。

をにほんごでかいてください。をにほんごでかいてください。

をにほんごでかいてください。      

            

       

October 

December 

4 Japanese books 

3 pieces of pencil 

8 Pieces of egg 

5 Elephants 

Apple 3 peace & 6 pieces of cakes 

ひらがな

ひらがなひらがな

ひらがな 

  

 を

をを

を 

  

 かいて

かいてかいて

かいて 

  

 ください。

ください。ください。

ください。       

              

       

passage about “ひらがな

ひらがなひらがな

ひらがな”.   

      

        

          

         

        

                      

ことば

ことばことば

ことば 

  

 の

のの

の 

  

 いみ

いみいみ

いみ 

  

 を

をを

を 

  

 かいて

かいてかいて

かいて 

  

 ください。

ください。ください。

ください。 

  

        

              

       

けっこんする

けっこんするけっこんする

けっこんする 

  

 

 

  

 

つくります

つくりますつくります

つくります 

  

 

 

  

 

にぎやかな

にぎやかなにぎやかな

にぎやかな 

  

 

 

  

 

かえります

かえりますかえります

かえります 

  

 

 

  

 

 

  

 

Pg 

Pg Pg 

Pg –

––

– 

  

 1 

1 1 

1 of 2

of 2of 2

of 2 
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Japanese  

             (05) 

       

              

        (10) 

                  (05) 

       

              

        (10) 
  

 



 

  

 

 

  

 

 

  

 

5. (     )になにをいれますか？ただしいものをえらんでください。

になにをいれますか？ただしいものをえらんでください。になにをいれますか？ただしいものをえらんでください。

になにをいれますか？ただしいものをえらんでください。 

  

   (05) 

（に、を、は、も、と、が、で、か、の）

（に、を、は、も、と、が、で、か、の）（に、を、は、も、と、が、で、か、の）

（に、を、は、も、と、が、で、か、の） 

  

 

 

  

 

a.

a.a.

a. これ

これこれ

これ（

（（

（  

    

  ）

））

）まつもとさんのほん

まつもとさんのほんまつもとさんのほん

まつもとさんのほんです。

です。です。

です。 

  

 

b.

b.b.

b. にほん（

にほん（にほん（

にほん（  

    

  ）ら

）ら）ら

）らー

ーー

ーめん（

めん（めん（

めん（  

    

  ）おいしいです。

）おいしいです。）おいしいです。

）おいしいです。 

  

 

c.

c.c.

c. この

このこの

このくつした

くつしたくつした

くつした（

（（

（  

    

  ）

））

）みらーさん

みらーさんみらーさん

みらーさん（

（（

（  

    

  ）ですか？

）ですか？）ですか？

）ですか？ 

  

 

d.

d.d.

d. ともだち（

ともだち（ともだち（

ともだち（  

    

  ）えいが（

）えいが（）えいが（

）えいが（  

    

  ）みにいきます。

）みにいきます。）みにいきます。

）みにいきます。 

  

 

e.

e.e.

e. かばん（

かばん（かばん（

かばん（  

    

  ）どこですか？

）どこですか？）どこですか？

）どこですか？ 

  

 

 

  

 

 

  

 

6. したのぶんしょうをにほんごでかいてください。

したのぶんしょうをにほんごでかいてください。したのぶんしょうをにほんごでかいてください。

したのぶんしょうをにほんごでかいてください。 

  

                                (05) 

I. My younger brother wants to be a teacher. 

II. How many family’s do you have? 

III. How many books will you buy? 

IV. How many cars are there? 

V. What is your friend`s name? 

 

 

 

 

************ 

 

 

 

 

 

 

 

  

 

 

  

 

 

  

 

 

  

 

 

  

 

 

  

 

 

  

 

 

  

 

  

    

   

  

 

 

  

 

 

  

 

 

  

 

 

  

 

 

  

 

  

    

  Pg 

Pg Pg 

Pg –

––

– 

  

 2

22

2 

  

 of 2

of 2of 2

of 2 
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                           ANNUAL EXAMINATION (2020-21) 

Class:-VII     Subject:- Spanish 
           Time- 1½ Hrs.   M.M.-40 

 
1. Contesta a las preguntas desde comprension abajo:                                          5 

                          ​Diario de Susana  
10 de agosto, 2005 
Ir al Campeonato del Mundo de Atletismo para  
Ciegos en Colorado Springs (EE.UU.) ha sido lo  
más bonito que me ha pasado jamás, y no sólo  
por ganar la medalla de plata, sino porque fue todo 
muy especial: la gente del equipo, el ambiente,  
conocer a otros deportistas de todo el mundo, estar 
en un lugar diferente de España… Además fue el 
premio a muchos años de esfuerzo. Ahora, ¡a seguir  
trabajando! El nuevo curso parece bastante difícil,  
tengo que intentar trabajar más. Estoy entrenando  
tres horas al día, seis días a la semana; a veces no  
descanso ningún día. Esta temporada quiero ir a  
Holanda, a Assen. Allí se celebra un Mundial donde  
van los mejores del mundo en el deporte paralímpico. 
Las marcas que piden para entrar en la selección son 
bastante difíciles, pero creo que soy capaz de hacerlas, 
no hay nada imposible. Eso exige un esfuercillo extra. 
Hay que llegar a las Olimpiadas de Pekín.  
Ese es mi verdadero sueño.  
 
Contesta estas preguntas siguientes:  

a. En qué lugar ha quedado Susana? 
b. Crees que a Susana le gusta viajar? 
c. Entrena todos los dias?  
d. Por qué quiere ir a Holanda? 
e. Cuál es la ambición de Susana?  

 
     2. Traduce las frases españoles a ingles :-                                                                 4 

a. Los indígenas americanos tenían vacas antes de llegar los españoles.  
b. ¿Conoces el origen del té y el café? Búscalo y escribelo en tu cuaderno.  
c. Hoy ha sido mi primer día en el colegio nuevo. 
d. ¿Quién será nuestro profe de español el año que viene? 

 
      3. Completa las frases con el verbo en pretérito indefinido : -                                   2 

a. Ayer ……. (tener, yo) clase de español a las once y media.  
b. Margarita …….. (escribir) dos cartas a sus padres el mes pasado.  



 
      4.  Completa las frases con el verbo en pretérito imperfecto :-                                 2 

a. Vivíamos en aquel edificio cuando yo.… (ser) niño.  
b. Durante las vacaciones…… (viajar, yo) a Madrid.  

 
     5.  Haz frases con las palabras de negación :-                                                          3 

a. Nadie -  
b. Nunca -  
c. Ningun -  

 
     6.  Pon las frases en imperativo :-                                                                             3 

a. Hay que escribir dos párrafos en español. (ustedes)  
b. Hay que jugar con los niños. (tú)  
c. No hay que recomendar videos malos. (tú)  
d. Hay que aprender una lengua extranjera. (Usted) 
e. Hay que cuidar su salud. (tú)  
f. No hay que beber el vino (ustedes)  

 
     7.  Haz frases usando 'que' y 'donde' :-                                                                     2  

a. Biblioteca -  
b. Futbolista -  
c. Banco -  
d. Panadero -  

 
     8.  Llena los huecos con el 'Se' impersonal :-                                                           2 

a. Las tijeras ……. (usar) para cortar los papeles.  
b. La puerta de la oficina…..(abrir) sola.  
c. No …… (poder) cazar animales en el bosque.  
d. En España …….. (hablar) español.  

 
     9.  Usa la preposición segun su uso :-                                                                      2  

a. Mi casa esta …… (in front of) un banco privado.  
b. Hay un estadio de fútbol….. (behind) mi colegio.  
c. Ana se sienta ….. (between) Miguel y Paloma.  
d. …. (At the right side of) hospital, hay una farmacia.  

 
    10.  Haz comparaciones con las palabras siguientes:-                                              2  
            ( más que, mayor que, peor que, menos que) 

a. Un elefante/ un perro (pesar)  
b. Un gato / un tigre (correr)  
c. Mi padre es ……. mi madre. 
d. Estar enfermo es ……. estar sano.  

 
    11.  Completa con el verbo en futuro :-                                                                      2  

a. La próxima semana…… (ir, nosotros) al colegio.  
b. …….. (comprar, yo) una nueva casa el año que viene.  

 
     12.  Haz las frases con necesitar y hacer falta :-                                                      1 

a. Mi hermano …….. un bici para ir al colegio.  
b. A vosotros….. un diccionario de español.  

 



     13.  Completa las frases con oración condicional :-                                                 2  
a. Si quieres aprobar,  ……. (hacer) los deberes.  
b. Si ……. (nevar) mucho, hace frío.  

 
    14.  Expresa las prohibiciones con las expresiones de 'esta prohibido'                    2 
            y 'no se puede'  

a. Fumar -  
b. Usar el mobil -  
c. Encender fuego -  
d. Cortar los árboles -  

  
   15.  Haz conjugación de los verbos segun su tiempo                                                6 

a. "Aprender" (pretérito perfecto - present perfect) 
b. "Hablar" (pretérito indefinido - simple past)  
c. "Tener" (pretérito indefinido - simple past)  
d. "Empezar" (pretérito imperfecto - Remote past)  
e. "Ser" (pretérito imperfecto - Remote past)  
f. "Trabajar" (futuro simple - simple future)  

 
 

 
 
 

 
 
 
 


